

One might think that when taking the derivative of the product of two expressions, it would be the ______ as taking the derivative of each expression ____________ and then multiplying.  However this is ____ the case:


(f g)'  ___  f' g'

Given:  
f(x) = x   and  g(x) = x2
then:   

(f g)'(x) = 
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 x(x2)

but:   

f'(x) g'(x) = 
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Product Rule

  
If both  f  and  g  are differentiable, then        

so is  f g   and :





(f g)' = f g' + f' g

  
In Leibniz notation:
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f(x)
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[f(x)g(x)]

dx
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eg.
f(x) = x (x2)
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